
COMPONENT CHECKLIST

PRODUCT DIMENSIONS

EAN:

BA C D

E F G H

Item Name QTY
A 1
B 1
C 2
D
E 4
F
G 2
H 2
I

I

M6*65mm Screw

J

4

J

M6  Nut

M8*15mm Screw

Mirror swivel head assembly
Fittings
Connection plate

Mφ16*φ8.2*1.5 Gasket

5mm Allen Key 1

K
1

L

Open Wrench

Adapter rod

K L

7350073737598

16Mφ16*φ6.2*1.5 Gasket

8

16M6*12mm Screw

Technical Summary
M Store Shelf Mount Pro
Dual 49BDL-4050D

M5X15 M6X15 M8X15 Ø16XØ6.2X1.5

X4 X4 X4 X4

A1 A2 A3 A4

X2



INSTALLATION INSTRUCTION

5mm

A

LK

D

A1/A2/A3
A4

FE

G

H

C
B

TV

J

Take off


